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5. Solve the two variable system.
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6. There is set of cards that have 15 red cards, 12 blue cards, 8 green cards and

5 yellow cards. What is the probability that you will draw a green card?
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7. Find the mode of the given data:
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8. Find the mean for the given data:
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9. Find the median for the given data:
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10. There is set of cards that have 15 red cards, 12 blue cards, 8 green cards and

5 yellow cards. What is the probability that you will draw a green card then
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One group of people purchased 10 hot dogs and 5 soft drinks at a cost of $12.50. A second

group bought 7 hot dogs and 4 soft drinks at a cost of $9.00. What is the cost of a single hot
dog? What is the cost-of asingle drink? 1D y\ +54d 12.S0
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21. Is the relation a function? {(4, 3), (-4, 9), (-2, 5), (0, 3)} @ L

22. Is the graph a function?
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23. Find the inverse of the function. {(-7, 8), (9, -2), (0, 2)} \/
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24. Find the inverse of the equation. y=3x—-5
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Simplify each expression. \/ \ / )
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Solve. Leave in simplified radical form.
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